Functions Review
Math 2253 Worksheet 2 - Answers

Question 1. Consider the equation along with its graph below. Choose all statements that apply.
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(@) | seeno obviousinteger values that satisfy the equation.
(b) Tofindintegersthat satisfy the equation, itisnecessary to put the equationintotheformy = max—+b.

(())obviousinteger valuesthat satisfy the equation 3z — 7y = 29 are X212, y= L (fill inblank).

(d) For any solution, it must betruethat = > 0. No - o any X value | there is @ Y value
Fhat males the equation true.

Question 2. Consider the function f(x) = = aong with its graph. Choose the ONE sentence that
best describes the graph.

f(x)=x

Thisfunction isalwaysincreasing. As You move From et to gt
(b) Thisfunction isaways decreasing.
(c) Thisfunction has both aninterval on whichitisincreasing and an interval on which it isdecrasing.

(d) Thisfunction is constant.



Question 3. Supposeyou are given the graph of the functiony = f(x) and you aretoldthat f(3) = 7.
Is there a particular point you know must be on the graph? If so, what isit? (3\"!\

Question 4. Consider the graph of the function f(x) below. Which ONE of the following statements
istrue?

(8 Theeguation f(z) = 5 hasno solutions.
(b) Theequation f(z) = 5 has exactly one solution.
((c) The equation f(z) = 5 hasat least three solutions. Tt intersects the line U:S in theee

places .
(d) Nothing about the solutionsof f(x) = 5 can be determined from the graph.

Question 5. Choose the graph that best matches the verbal statement: “Chris stood stock still in front
of astatue for along time.” (Note: dist on the vertical axis stands for distance from the statue.)
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As fime possed, s distance
remained constand.
Question 6. Let N = f(t) be the number of cans of soda Penelope has consumed by age ¢, where

ismeasured in years. Describe what the following mean in practical terms. Be sure to include units.

(@ f(15) =350 By age 15 years, Perelope has consumed 350 cons of soda.

(b) f*1(50) =6 The QS{ bY which S»\Q has Cor\SuMed %0 cans 0‘? Son 1S
b \jeors.



Question 7. Consider the following graph of theliney = 7x + 3. Given that the horizontal segment
indicated has length 4, consider the dotted vertical segment. Indicate which of the following statements
istrue about the dotted line.

(@ Thelength of thisline cannot be determined from the information given.

(b) Thelength of thislineis7.

(@) Thelength of thislineis 28. by .1 , ond Ax=4  so Aa =2%
(d) Thelength of thislineis 31.

Question 8. Consider the graph below.

3x+ty=14
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(@ Can you determine the coordinates of the point A? If so, what are they? If not, explain why not.
Mes . X=0, so o)ty =>y=14 (0,14)

(b) Can you determine the coordinates of the point B? If so, what are they? If not, explain why not.
No* There is no scale ondhe y-axis.
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